WERE

ac
A
oot
rie
e
40
1%
A
=5
=
00
=
18
N
N
o

o NEEA U NEZ | oaow

S| AEm | AsaHEA) (;:ggg) *A}%ﬂw(ﬁ} ) *(%) ”'(g) R )
1 2 & 22-11-11 0:00 kZctH M= 8tEM ZUN Fof §H&t 50,000 1 = |29
2 2 & 22-11-15 0:00 kEcHH 2= HIAL-o3 S FHYA =6t 58t 90,000 1 = |22
3 2 & 22-11-21 0:00 kZctH SXS| AFCININEIE 2 X518 60,000 1 Bl |22
4 2 & 22-11-29 0:00 kEcHH MR CUs H2)| EHA =6t 58 60,000 1 Bl 229
5| @m | o0 1124 12:41 =2ioA |dEw =8 24 g2 82O 330.000 | 13 e | A=
6| E29E | o0 1121 1437 | _SHDIE AZH [Aardizs 32700 |7 T
7| 2255 | oo 112 1647 | =2 JiHge [Rarize 93.500 |16 T
B| Z95& | 001105 15:20 | SWDIE A=A [maapiore 76.480 |7 T
9| Z25& | 221111604 | scadleda |NSNEE @d NS 10,000 | 3 EEEE
0] 2928 | 20114 19:13 |Z0I2101 BEoloE|#E NS 2A Bl S8 AD| A5 60.000 | 7 N IEEE
11| Z228 | 22117 1238 | OI=SS220S |88 ASZA e o2 go| 123.000 | 9 N IEEE
12| 2228 | 20119 12:41 Ol% 2000 |colsl MEASZA 89 136.000 | 9 N IEEE
13] 2958 [ 201110 15:18 | IR UXZ 2E DIzl o122 gioeo 111.000 |12 N IEEE
14| Z228 | 201121 12:07 | ASISMESL |Solsl 0laol AasHsl, F22H 89 128.000 | 9 N IEEE
15 EREE 22-11-22 12:22 eI PIESE 24 82 9 50,000 6 = A MZ
16 D120l 7 =a] 201180 12:42 | B2 HUUE |DI=0ins o NSuss pioa 2 )12 S S8 A 20 160,000 |16 T
17 DIEo 725 22111 1333 S2oA  |d=s 58 o oo 8o 160.000 | 6 EEEE
18 |JIEH P22 E| 22-11-8 12:31 EREES MER S 2 R §o 73,000 4 = AMZ
19 DIZom=a] 20118 19:07 | olUl%a  [AH AS 28 siose 65.000 | 5 N EEE
20 DIZIoi A=A 221125 12:06 | EHIEY =6l Ael =8 eioao) 60.000 | 4 N EEE
21 [DIE oI TS 5] 201108 19:03 | 252 MAZA [BM ABZE 22 100.000 | 6 N IEEE
22 [NEns=~] 20-11-14 19:00 | 2HOIDIE A& |92 %= 50 @ 08 oo 118.600 | 6 T
23 [N2D=S=E] 221110 12:04 iB= TEEETCEELE 108.000 | 9 EEEE
24 [N2OS5E] 221110 12:15 | JiHA G |0B7= sl 9o &0 45500 | 9 N IEEE
25 (N2 DSSH] 22-11-16 17:58 Ol 95 9 N2u=S ZE) B0 oo 8O 100,000 |7 N IEEE
26 [ N2 0=25] 22-11-16 18:03 c=o 205 0 2NsS ASE)| B 02 8o 25100 | 5 N IEEE
27 [ R2n=T8] 221123 12:38 | CIH0IAT | D= Jitis 205l e 20K 92 59 15700 4 EETE




